
Schriftliche Abschlussprüfung 2005 – Fachoberschule –
Fach: M a t h e m a t i k R
- Wirtschaft -

Lösungshinweise

1.1 Py ( ; )0 2 Px ( ; )2 0

1.2 PMin ( ; , )3 0 05− PW ( ; , )4 0 04−

1.4 y = -3x +2 18,43°

1.5 1,14 FE

1.6 1 : 0,7

2.2 x = 1,25

2.3 S1 0 0( ; ) S2 0 69 0 35( , ; , )− −

2.4 x = -2

3.2 P ( ; )3 1− Q( ; , )3 5 5− PQ = 4 5,

3.3 x0
8
3

=  a = 4,66

4.1   2 035,68 EUR

4.2   3 473,00 EUR

4.3 31 585,09 EUR

Lösungshinweise Technik

3.2 P ( ; )3 1− Q( ; , )3 5 5− PQ = 4 5,

3.3 x0
8
3

=  a = 4,66

4.1 C ( -1; 2; -3)

4.2 M (0; 2; -2)
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α  ≈  23,84°

4.3 11,49FE

4.4 P (0; 13,75; 0) a ≈  11,83 LE

Lösungshinweise Sozialwesen,...

3.2 P ( ; )3 1− Q( ; , )3 5 5− PQ = 4 5,

3.3 x0
8
3

=  a = 4,66

4.2 1,50 dm

4.3 1,37 dm

4.4 0,39 dm

4.6 6,63% 18,17% 30,7%


